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SAMPLE PAPER - 2008

Class - X

SUBJECT - MATHEMATICS
Marks: 80.                                                                                                     Time: 3 Hrs.

                                  SECTION-A
1) If a and b are 2 odd prime numbers prove that a2 – b2 is composite.

2) Find the value of x such that PQ = QR where P, Q, and R are the points (2,5), (x,-3) and (7,9) respectively.                                                                                    (25/2)
3) If tan A = 1, tan B = √3, find cosA cos B – sin A sinB.                          (1-√3/ 2√2)
4) Prove that  a) 1 + cosθ +sinθ   = 1 +sinθ       
                            1 + cosθ – sinθ     cosθ

                     b) tan3θ   +       cot3θ   =  secθ cosecθ – 2sinθ cosθ

                       1 +tan2θ     1+cot2θ
5) Check whether 6n can end with the digit 0 for any n € N.

6) Five male and 3 female candidates are available for selection as one manager in a company. Find the probability that  a) male is selected          ( 5/8)
                                                          b) female is selected       (3/8)

[image: image1.png]7) ABCD is a square whose  each side is 14cm.APD and BPC are semi circles. Find the area of the square excluding the semicircles.(48cm2 )




8) A chord of a circle of radius 10cm subtends a right angle at the centre.Use π =3.14 and find a) area of minor segment  b) area of major sector  c) area of minor segment

 d) area of major segment                                   (78.5cm2,235.5cm2,28.5cm2,285.5cm2)
9) 2 zeroes of the polynomial p(x)=2x4-3x3-3x2+6x-2 are √2 and -√2.Find the remaining zeroes.                                                                          (1/2,1)

10) For what values of α, will the system of the linear equations αX3y= α-3?
12x+αy=α have a unique solution.                                                   (α≠6) 
                                           SECTION-B       

11)Find the value of p for which the points (-5,1),(1,p) and (4,-2) are collinear. (-1)

12)Find the values of p and q  for which the following system of linear equations have infinite number of solutions 2x-y=5, (p+q)x+(2p-q)y=15.                (p=3,q=3)
13)Determine whether the given quadratic equation has roots .If so find them 

    (x+4)(x+5)=3(x+1)(x+2)+2x.             {(-1±√29)/2}
14)Which term of the AP 3,10,17,……..will be 84 more than 13th term ?        (25th )

15)P.T.( Sinθ  -Cosθ  +1)/(Sinθ   +Cos θ  -1)=1/(Sinθ  -Tanθ  )
                                            SECTION-C

16)∆ABC ~∆DEF.Area of ∆ABC=9cm2and the area of ∆DEF is 16 cm2.If BC=2.1cm find length of EF.           (2.8cm)
17)State and prove Pythegoras theorem .Use the theorem to calculate the area of ∆PMR from the given figure if ∟PMR=90º.          (24cm2)

18)ABCD is a polygon whose vertices are A(-1,0),B(4,0),C(4,4),D(0,7),E(-6,2).Find its area.                    (44 sq.units).

19)A bag contains 7white ,6red and 12 green balls.A ball is drawn at random from the bag .Find the probability of getting a)a red ball        (6/25)  b)non-white ball.(18/25).

20)A bag contains 25cards numbered 1to25.One card is drawn at random from the bag.Find the probability that this card has a number which is divisible by both 2and3.  

                                                           (4/25).
21) Solve graphically: 2x+y=8, x+1=2y.

22) A man is standing on the deck of a ship which is 10m above the water level .He observes the angle of elevation of the top of a hill as 600 and the angle of depression of the base of a hill as 300.Find the distance of the hill from the ship and height of the hill.                                                                                             (17.32m, 40m)

23) The angle of elevation of the top of a building from the foot of a tower is 300 and angle of elevation of the top of the tower from the foot of the building is 600.If the tower is 50m high, find the height of the building.                               (16.67m)
24) Construct ∆ ABC, in which AB=4cm, ∟B=1200,BC=5cm, construct ∆ AB’C’ similar to ∆ABC such that AB’=5/4AB.

25) Prove that the lengths of tangents drawn from an external point to a circle are equal. Using this theorem  prove that the opposite sides of a quadrilateral circumscribing a circle subtend supplementary angles at the centre of the circle.
                                                    SECTION-D

26) Prove that the ratio of areas of two similar triangles is equal to the ratio of square of their respective sides. Using the above prove that the area of equilateral triangle described on the side of a square is half of the equilateral triangle described on its diagonal.

27) A metallic bucket is in the shape of a frustum of a cone mounted on a hollow cylindrical base as in the adjoining figure. If the diameters of two circular ends of the buckets are 45cm and 25cm and total vertical height is 30cm and that of cylindrical portion is 6cm, find the area of the metallic sheet used to make the bucket. Also find the volume of water it can hold. (3822.5cm2,771.9cm3)





28) Find the mode of following data, using calculation and also by drawing histogram.
	Marks above 
	0
	10
	20
	30
	40
	50
	60
	70
	80
	90
	100

	No:of students 
	80
	77
	72
	65
	55
	43
	28
	16
	10
	8
	0


                                                                                                                                (55)

29) In the adjoining figure a circle touches all the 4 sides of a quadrilateral ABCD, AB=6cm, BC=7cm, CD=4cm, Find AD.       (8cm)

30) If pth, qth, and  rth  term of an AP are x,y,z , prove that                                                  x(q-r)+y(r-p)+z(p-q) = 0.   
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